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int [ ] array1;
array1= new int[10]
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array1[3]= 5;
array1[0]=18;
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string [ ] strings;
strings = new string[50];
strings[0] = “initial value”;
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int [ ] array1 = new int[10];
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int which;
int[]ar1 =new int[10];
Console.WriteLine(“Please enter 10 integers of any size:”);
for (int i=0; i<10; ++i)
{
ar1[i]= int.Parse(Console.ReadLine());
Console.WriteLine(“Next:”);
}
Console.WriteLine(“Please enter which number you want back (its sequence)’);

which= int.Parse(Console.ReadLine());
Console.WriteLine(“Your {0} number was {1}’, which, ar1[which-1]);
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